PART A: MULTIPLE-CHOICE QUESTIONS
(calculator not permitted)

Suggested Time: 30 minutes
Value: 12 marks Allowable Time: 40 minutes

INSTRUCTIONS: No calculator may be used for this part of the examination. For each question,
select the best answer and record your choice on the blue Answer Sheet provided.
Using an HB pencil, completely fill in the bubble that has the letter corresponding
to your answer. You have a maximum of 40 minutes to work on this section.

You have Examination Booklet Form A. In the box above #1 on your Answer Sheet, fill in the
bubble as follows.

Exam Booklet Form/ A

B CDE F G H
Cabhier d'examen 'OO O O O O O

1. Determine the y-intercept of the graph of this equation: y —3 = 2(x + 5)
A. —13
B. 13
C. —-10
D. 3

2. Which graph represent the equation 4x — 5y — 20 = 0?
Al C.
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~
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3. Write an equation for the line that passes through U(3, —7) and is perpendicular to the line

1
y=7x—9.
A J,.~+7:_%(.»c+3) C. y+7=-T(x-3)
B. y-7=7(x+3) D. y+7="7(x-3)

4. Determine the number of solutions of the linear system:

2x-5y=23

—6x + 15y =21

A. one solution C. two solutions

B. no solution D. infinite solutions

5. The cost for hosting a dinner is given by the formula C(n) = 60 + 3n, where C is the total
cost, in dollars, and » is the number of people attending the dinner. What is C(80)?

80

143
240
300

onwp

6. What is the greatest common factor of 36, 48, 60.

A. 2
B. 3
C. 6
1

D. 12
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7. Write 3V2 as an entire radical

A. V6

B.
C.
D

8. Order the numbers from the smallest value to the largest value.

IV, IL I, III
IL I, IV, II
L 10, IV, II
IV, L 11, III

ocnw»

2
9. Simplify (64a'?b'®)s

16a®p°
16a18b10
64a8p10
16a8b?5

oawpy

2
10. Evaluate 8 3

A.
B. =27
C.
D

N R R
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11. The heights of four students are listed below. Arrange them from shortest to tallest.

Student Height

Molly 167 cm
Christie 5 feet 3 inches
Stephanie 67 inches
Jarrod 2 yards

Jarrod, Stephanie, Molly, Christie
Christie, Molly, Stephanie, Jarrod
Stephanie, Christie, Molly, Jarrod
Christie, Stephanie, Molly, Jarrod

oawr

12. Determine the tangent ratio for T

A2
4
B. 2
4
c. 2
5
D. 2
3

This is the end of Part A (calculator not permitted).

If there is some time left, you have two options:

1) Make sure you have answered all the questions. You will not be able to go back to this section at

the end of 40 minutes.

11) You may proceed to the rest of the examination without the use of a calculator; there are many
questions that do not require a calculator. Make sure you flag any questions you skip to

remember to go back to them later.

Do not access your calculator until directed by the supervisor. At the end of the 40 minutes, the
supervisor will give you permission to access your calculator.

Foundations and Pre-Calculus 10 Practice Provincial Exam—Vos A

page 4



PART B: MULTIPL I--( HOICE QUESTIONS
ii Ay

(calculator permitted)

Value: 42 marks Suggested Time: 75 minutes

INSTRUCTIONS: For each question, select the best answer and record your choice on the white

A svcnnan » Chant nrnvndad Tleina an LID nannsidd snmalatale Gl ia tha hoahhla that ha
ATISWETD Sttt }JIU\I\M.I UDIIIE ail nop ponea, LUIII}JI\.«“.I] 1in il UiC OUOOIC uiaw n

the letter corresponding to your answer.

7]

13. A retirement home ordered canvas shopping bags for 90 residents. This graph shows the cost of the
shopping bags, C dollars as a function of the number ordered, n. Suppose one more shopping bag
was ordered. What would be the increase in cost?

1¢ Cost of Shopping Bags
700
600
500
e
g 400 =
(]
300 - -
e
L
A. $0.25 . -
' . 100 =k
B. $4.56 —
C. $5.00
D. $4.00 0 0 20 30 40 S0 60 70 80 n
Number of bags

14. Determine the domain and range of the graph of this function.

‘I\y

2 o F)
EEREILIAERNEE
A, 22x<4,y<2 C. x£2;y<4
B. x£4,y<2 D. x<4;-2<y<2
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15. Which table of values represents a linear relation?

A Distance(m) |0 (5 |10|15]|20
" | Time (s) 012 [3 |4
g [Time(® 0]3 |6 [9 |12
" | Distance(m) |0 |10 [22]36 |52

C Time (s) 0|1 [2 [3 |4
"[Speed (m/s) [0 |1 [2 [4 |8

D. | Distance (m) 0|4 (16|36 |64
Speed(m/s) |0 [2 [4 |6 |8

16. What does the slope represent in the graph below?

Average Speed

A
S 400 +
=2
5 E
E 2
L 4
o=
S O
n 2
o
- o
A. Distance from Vancouver §
B. Time Travelled
C l | 1 | >
D.

Distance to Vancouver :
Time Travelled (hours)

17. A road rises 9 m for every 60 m measured horizontally. Determine the slope of the road.

20 20
A —— C. —
3 3
3 3
B. ——. D. —
20 20
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18. The cost, C, in dollars, of holding a banquet depends on the number of people attending, n, plus a
fixed hall rental cost. If the cost per person is $7.50, C(0) = 25, and €(50) = 400, what is the

equation of the cost funtion?
A. C(n) =7.50n+ 400
B. C(n) = 50n + 400
C. C(n) =7.50n+50
D. C(n) =7.50n + 25

19. For a service call, an electrician charges a $65 flat fee, plus $45 for every 30 min worked. Determine

the rate of change of this linear relation.

A. $45/h
B. $110/h
C. $65/h
D. $90/h

20. Water is draining from a full 4620 L tank
at the rate of 55 L per hour. Which of the
following can be used to describe the
volume, V, over time, ¢, in hours?

A. Tand III only
B. II and III only
C. Tand II only
D. L 1II, and IIT

4=
[0
L]
o

Volume (L)

Time (h)
{ Vv
IL 0 4620
84 0
1. V = 4620-55¢
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21. This graph shows the volume of water remaining in a leaking hot tub as a function of time.
Determine the domain and range.

N

v Water in a Leaking Hot Tub
2400
2000
21600 ]
g ]
21200 N
> \‘
800
400 \\
\\\
— ¢ e >
24 43 72 96 120 144 168 192 216 t
N2 Time (h)
A. Domain: 7 <129 C. Domain: 0<7<129
Range: 0 £ V<1800 Range: V< 1800
B. Domain: 0 < V<1800 D. Domain: 0 <1<129
Range: 1 £ 129 Range: 0 £ V<1800

22. Which of the following describes the graph of 3x — 4y + 4 = 0?

I. | The y~intercept is 1.

1. | The slope is %

II. | The domain is the set of all real numbers.

I and IT only
[ and IIT only
IT and IIT only
[, IT and 111

oWy
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23. Which statement is true for the graph of x — 4 = 0?

A. The domain is x = 4.

B. The slope is zero.

C. Therangeisy = 4.

D. The domain is all real numbers.

24. A line passes through the point (—4, —4) and has an x-intercept of 4. Which of the following
statements are true?

I | The line has a y-intercept of —2
I | The line passes through the point (8,2)
IIT | The line is perpendicular to y = —2x — 2

A. TandII only
B. Tand III only
C. II and III only
D. L II, and III

25. Which of the following equations represents a line that is perpendicular to the line shown below and
passes through the point (=2, —6)?
-‘.
2

A. y=§x+2
B yv=2,_1
- Y =3 3 7]
C.y=—>x—9 N\
Y= 5 ; g
D v=—2yx_2
- Y =73 3 sl
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26. Which of the following lines passes through the points (3, —1) and (10, —4)?

A. y=%x—%
B. y=§x—5—78
C. y=—§x—%
Dy=—-x+-=

27. Determine the value of A, if the lines y = 2x + 5 and Ax — 3y + 30 = 0 intersect on the x-axis.

A. 12
B. 6

C. -6
D. —12

28. Cabby Cabs charges its customers a fixed fee plus $0.80 per kilometre travelled. If a customer were
charged $16.75 for an 18 km trip, how much would the customer pay for a 36 km trip?
A. $28.80
B. $31.15
C. $33.50
D. $45.55
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29. If f(x) = 5x + 6, determine f(—3).

A. =9

30. Which linear system has the solution x = 4 and y = —27?

A. x+4y =15 C.4x+y=14
4x — 2y = =17 —2x+4y=-16
B. 2x+4y =4 D. x+4y =4
—2x+y=14 2x+4y =28

31. Determine the solution to the linear system below.

x—2y =-56
5x + 13y =410
A. (4,-30)
B. (—4,30)
C. (4,30)
D. (—4,-30)

32. Mark invested a total of $4475 in two bonds. He invested in one bond at an annual interest rate of
8% and in another bond at an annual interest rate of 10%. After one year, the total interest earned
was $389.50. How much money did Mark invest in each bond?

A. $1575 at 8%
$2900 at 10%

B. $2900 at 8%
$1575 at 10%

C. $2075 at8%
$2400 at 10%

D. $2400 at 8%
$2075 at 10%
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33. The area of a square is 64 square inches. What do you know about the square?

A. Both its side length and its perimeter are irrational.
B. Its side length is irrational and its perimeter is rational.
C. Its side length is rational and its perimeter is irrational.

D. Both its side length and its perimeter are rational.

34. A bar is to be placed diagonally in a box to keep the box’s shape. What is the maximum length of bar
that will fit, to the nearest centimeter?

20.6 cm
E 14.8 cm
e 2.2cm
A. 28 cm?
B. 25cm’
C. 48 cm’
D. 35cm?
5 N5
_ - (Z(I“b)
35. Simplify : 5 =
(4(/'1)3)
5a°
A —
4bH
” 6
B =a_
)
2a°
C. =—/—
b
]
D. A
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36. Simplify : (W)(s .\"2)

9
A. x8
3
B. «x*¢
C. x?
9
D. x4

1
W—12y6 _§
37. Simplify W

w*x
A. _ﬁ
2y?

B. —m
CcC. — yz
’ 2wix
2wix

D. — yz

La—1 )3
X

38. Simplify : W
) (x

A. x°

B. x%?
c X
D. x%*
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39. Expand and simplify: (9m — 5n)?

A. 81m? — 25n?
B. 81m? — 45mn + 25n?
C. 81m? — 90mn + 25n?
D. 81m? + 25n?

40. Determine the area of the shaded region.

3x+2
A. Tx?-3x+4 1
B. 7x*+3x+4
C. 7x*+9x+4 2443
D. 7x*+15x+4 !

|
I
b
|
I
11
1

41. Factor the trinomial 20a?b — 25ab + 45ab?

A. 5ab(4a — 5+ 9b)
5ab(4a — 5ab + 9b)
ab(20a — 25 + 45b)
5(4a*b — 5ab + 9ab?)

o N w
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42. For which integral values of k can 15x? + kx + 1 be factored?

43. Which factor is common to both of the following polynmials?

44. Determine the multiplication sentence that the following set of algebra tiles represents.

A
B
C

D

Foundations and Pre-Calculus 10 Practice Provincial Exam—Vos A

A. 8, 16 only

B. 8, +16 only
C. =8, —16 only
D

. All integers between —16 and 16, inclusive.

y >
S8x -2x-1

-

4x° -1

2x—1
2x+1
4x — 1
4x + 1

oSnw»

. (X2 +4x)(3x%2+2x+8) =3x%2+14x + 8
. (x2+4)(3x*+2)=3x*>+14x+38

. Bx+4)(x+2)=3x>+14x+8

. (Bx+2)(x+4)=3x2+14x+8
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45. Determine the measure of the vernier caliper below.

T 10 20 30 40
NERISRRRARERRREREREn II|IIII|II1II|IIII|IIII|lll

|
L
01 2

[y
T Tl
3456 7 8 910 01mm

#&”}»M

/»“ S
.

13.3 mm
14.3 mm
20.3 mm
10.4 mm

oSawp

46. Which referent could you use for 1 yd.?

A. The width of your shortest finger

B. The length of a screwdriver

C. The height of the kitchen counter above the floor
D. The length of a football field

47. The bobsled track at the Canada Olympic Park in Calgary is 1475 m long. What is this length to the
nearest yard?

A. 1598 yd.
B. 1613 yd.
C. 1349 yd.
D. 1362 yd.
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48. A covered garbage bin has a surface area of 15 m®.

R

Garbage

X

What is the length of one side, x, of the garbage bin?

A. 13m
B. 1.6m
c 23m
D. 39m

49. A weather balloon has the shape of a hemisphere on a cone as shown in the diagram below.
What is the volume of this weather balloon?

A. 4503 m?
B. 5550 m®
C. 6597 m’
D. 7645 m’

Foundations and Pre-Calculus 10 Practice Provincial Exam—Vos A
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50. Ian created two storage containers in his woodwork class as shown in the diagram below.

Container B

Container A

25cm

75cm

Compared to Container A, how much more paint does Brian need to paint Container B?

3 times
6 times

Q timac
7 UILvS

27 times

oNE»

51. Calculate the length of YZ X

] 409 £
A. 16.06 cm
B. 16.45cm
C. 19.61 cm

35° ]
18 cm Y

D. 22.94 cm W
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52. A road is constructed as shown in the diagram below.

What is the angle, x, at the peak of the roof?

A. 157°
B. 148°
C. 146°
D. 136°

53. Cameron looks out the window 30 m above the street and sees a firetruck on the street and an
ambulance behind it as shown in the diagram below.

A

i I I lL IL
I”,"lll i Sl
| -
Tl el =I5~

LU Y L = i

I A=l S —_—
I g o p -~ Homi
IIIIIII|||||' cn i \\\\ \\\\\\
:muu"" T Il - i S
||||II|||"“ sl ~— ‘ —_—
A 12° S~ _ A

Firetruck X > Ambulance

How far apart, x, are the ambulance and firetruck?

A. 30m
B. 42m
C. 43m
D. 98m
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54. A 10 m ladder reaches halfway up the wall of the building. Using the diagram below, what is the

distance, d, from the ground to the highest point on the roof?

70°
1

10 m ladder

f 20m
A. 40.00 m
B. 38.79m
C. 37.59m
D. 2940 m

Foundations and Pre-Calculus 10 Practice Provincial Exam—Vos A
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PART C: NUMERICAL-RESPONSE QUESTIONS
(calculator permitted)

Value: 6 marks Suggested Time: 15 minutes

INSTRUCTIONS: When answering numerical-response questions on your Answer Sheet:

* print digits as illustrated:

of (t|([2]|3]||4||S||6||7]||8]||9

* shade the bubble with the negative symbol if the answer is negative; shade
or leave blank the bubble with the positive symbol if the answer is positive.

* write your answer in the spaces provided using one digit per box, noting
proper place value.

¢ leave unused boxes blank.

* For example, —70.2 will be written as:

X | 71(0/.|2
 For example, 4 will be written as:
OO0 4. o @ O 4.
» For example, %.answcrcd to two decimal places, will be written as:
+ - + -
OO 0.6 7 r @O 0.6 7

55. Give the graph of y = g(x) below, determine the value of x for which g(x) = 6.
Answer as an integer.

y

y=9k)

Record your answer neatly on the Answer Sheet.
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56. If a skateboard club holds a raffle, the profit, P(n), is represented by the function P(n) = 2n — 150,
where n is the number of tickets sold. What is the value of P(100)?

Record your answer neatly on the Answer Sheet.

57. Solve the following for y:
2y —4x = =2

3x —5y =12

Record your answer neatly on the Answer Sheet.
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58. Determine the value of k that will make the following a perfect square trinomial.

25x2 + kxy + 9y?

Record your answer neatly on the Answer Sheet.

59. Aline segment has endpoints A(—7,3) and B(8,—2). Determine the slope of AB.

Record your answer neatly on the Answer Sheet.
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60. Calculate the surface area of the solid hemisphere below. Answer to the nearest square centimetre.

7

Record your answer neatly on the Answer Sheet.
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